
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 67 0 10 77 0 0 11 0 0 66

2 शुçक गाय 74 0 11 85 0 0 9 0 0 76

3 Ĥͧश¢ण हेतु 19 0 0 19 0 0 0 0 0 19

4 औसर 130 0 2 132 0 0 1 0 0 131

5 मादा बÍचे 32 4 0 36 0 0 2 0 0 34

6 सांड बछड़े 10 0 1 11 0 0 0 0 0 11

7 नर बÍचे 15 1 0 16 0 0 1 0 0 15

347 5 24 376 0 0 24 0 0 352

1 दधू मे गाय 0 0 0 0 0 0 0 0 0 0
2 शुçक गाय 0 0 0 0 0 0 0 0 0 0
3 Ĥͧश¢ण हेतु 0 0 0 0 0 0 0 0 0 0
4 औसर 0 0 0 0 0 0 0 0 0 0
5 मादा बÍचे 4 1 0 5 0 0 0 0 0 5
6 नर बÍचे 0 0 0 0 0 0 0 0 0 0
7 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

4 1 0 5 0 0 0 0 0 5

1 नर बÍचे 0 0 0 0 0 0 0 0 0 0
2 मादा बÍचे 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0

1 दधू मे गाय 17 0 2 19 0 0 4 0 0 15
2 शुçक गाय 19 0 4 23 0 0 2 0 0 21
3 Ĥͧश¢ण हेतु 3 0 0 3 0 0 0 0 0 3
4 औसर 36 0 0 36 0 0 0 0 0 36
5 मादा बÍचे 12 1 0 13 0 0 0 0 0 13
6 नर बÍचे 8 1 0 9 0 0 0 0 0 9
7 सांड बछड़े 6 0 0 6 0 0 0 0 0 6

101 2 6 109 0 0 6 0 0 103

1 दधू मे गाय 4 0 0 4 0 0 0 0 0 4

2 शुçक गाय 8 0 0 8 0 0 0 0 0 8

3 औसर 14 0 0 14 0 0 0 0 0 14

4 मादा बÍचे 6 1 0 7 0 0 0 0 0 7

5 नर बÍचे 3 2 0 5 0 0 0 0 0 5

6 सांड बछड़े 1 0 0 1 0 0 0 0 0 1

36 3 0 39 0 0 0 0 0 39

1 शुçक गाय 2 0 0 2 0 0 0 0 0 2

2 मादा बÍचे 7 0 0 7 0 0 0 0 0 7

3 नर बÍचे 12 0 0 12 0 0 0 0 0 12

21 0 0 21 0 0 0 0 0 21

509 11 30 550 0 0 30 0 0 520

1  गाय @ghQj 33 0 0 33 0 0 0 0 0 33
2 सांड @cSy 66 0 0 66 0 0 0 33 0 33

99 0 0 99 0 0 0 33 0 66

1  गाय /@ghQj 7 0 0 7 0 0 0 0 0 7
2 सांड @cSy 13 0 0 13 0 0 0 7 0 6

20 0 0 20 0 0 0 7 0 13

1 गाय @ghQj 2 0 0 2 0 0 0 0 0 2
2 सांड @cSy 2 0 0 2 0 0 0 0 0 2

4 0 0 4 0 0 0 0 0 4

1 गाय @ghQj 1 0 0 1 0 0 0 0 0 1
2 सांड @cSy 0 0 0 0 0 0 0 0 0 0

1 0 0 1 0 0 0 0 0 1
124 0 0 124 0 0 0 40 0 84

633 11 30 674 0 0 30 40 0 604
* TWH - TRANSFER WITHIN THE HERD.

mRrjk[k.M i'kq/ku fodkl ifj"kn ¼;w-,y-Mh-ch-½ 

ekfld izxfr & gMZ ,dkmUV] Ik'kq iztuu iz{ks=] dkylh
ekg % flrEcj] o"kZ % 2023&24
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flU/kh ¼izf'k{k.k dsUnz dkylh½
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lkghoky ¼izf'k{k.k dsUnz dkylh½

;ksx¼C½

;ksx¼B½
tlhZ ¼izf'k{k.k dsUnz dkylh½

कुल flU/kh@flU/h 
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